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Umrechnung in die Scheitelpunktform
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Faktor vor x2
ausklammern (mit
Vorzeichen)

Ausdruck in der
Klammer quadratisch
erganzen und die
Erganzung gleich
wieder subtrahieren
("nahrhafte Null")

Binomische Formel
rickwarts

Ausgeklammerte
Zahl ausmultiplizieren
(Distributivgesetz)

Konstanten
zusammenfassen

S5(n %)

und

Faktor vor x2
ausklammern (mit
Vorzeichen)

Ausdruck in der
Klammer quadratisch
erganzen und die
Erganzung gleich
wieder subtrahieren
("nahrhafte Null")

Binomische Formel
ruckwarts

Ausgeklammerte
Zahl ausmultiplizieren
(Distributivgesetz)

Konstanten
zusammenfassen




